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Line 2+3 from bottom

Equation {3./-8} line 1

Equation {3.5-2}

Equation {5.1.1.3-2}

Line 2 chapter 5.2.1.1

Equation {6.1.1.3-2}

Equation {6.1.1.4-7}
Equation {6.1.1.4-13}

Line 1

Equation {6.1.1.4-26}
Equation (6.1.1.4-32)

Equation {7.7-3)
Equation ¢7.1-4}

Line 2 paragraph 4 '

Equation {7.2.4-4}
Equation {7.2.5-6}

Equation {8.1.1-8}
Equation {8.1.1-9} line 2
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Equation {8.1.2-3)}
Line 2 paragraph 3
Lact line
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co-ordinate vector at station j should be the co-ordinate difference
vector between station j-I and j

exel = [ (81/010)*¢7o+(8f1/040) 630 H3f1/8Do) 3, ]
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s dn? "
second line should be = J = :’inzl +2sin®z cos?tdv?

frue magnetic north should be true north

dnz .2 Dip 2
dt~ ‘/stmll +2 sin“tcos“tdv}

Ty i180 = —Qcos g(cos Icos A cos T —sind sint) — Qsingsin/coszt
Tycs180 = Qcos ¢(cos [cos Asint +sind cos 7) +Qsingsin/sint

earth angular rate at the equator should be earth angular rate

—

]
T,e+180 = —Qcos ¢(cos Icos Asint +sind cos 7) #Q singsin/sint /
T2,:270 = Qcos g(cos I cos A cos T —sind sin7) Q) sin ¢sinfcost »

dD[ = i;u’,’};

dDir =is [dB? +dp?

and 0°C. should be and the surface reference temperature for
thermal drill string expansion.

dDx=0.125dDx

dD xiy = 0.5dD xgi1

dna B i
dr = ‘/st.mz] + 2 sin“7 cos“7dv}

~=(Atjcos]; + A{ws; sin 7, + wy;cos 17)sinl; - Atw, cos ) — AtQsing)

sng
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dd7=%dl+ZLdr ~

d[—cosldt
Jactor is 2.49 should be factor is 2.45

§2.0.1-13 45 §8.00-7} should be §4101-2% 4 §6.000-113
§9.01-13 ¢ £8.01-6F should be §6./11-2% te §6.1.0.1-103
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